 EQ c+8d=15 
Из уравнения  EQ 1  выразим переменную  EQ d .

 EQ d=\f(15-c;8) 
Преобразуем уравнение.

 EQ d=\f(15-c;8) 
Изменяем порядок действий.

 EQ d=\f(-c+15;8) 
Выносим знак минус из произведения.

 EQ d=-\f(c-15;8) 
 EQ -p-9g=4 
Из уравнения  EQ 1  выразим переменную  EQ p .

 EQ p=-4-9g 
Преобразуем уравнение.

 EQ p=-4-9g 
Изменяем порядок действий.

 EQ p=-9g-4 
 EQ 5u+7v=21 
Из уравнения  EQ 1  выразим переменную  EQ v .

 EQ v=\f(21-5u;7) 
Преобразуем уравнение.

 EQ v=\f(21-5u;7) 
Изменяем порядок действий.

 EQ v=\f(-5u+21;7) 
Выносим знак минус из произведения.

 EQ v=-\f(5u-21;7) 
